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Write the slope-intercept form of the equation of each line given the slope and y-intercept.
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Write the slopedintercept form of the equation of each line.





image20.png
,“ ,
F Sassais
R IEEEEN . i
H HESESE.
c
g ul
el ) 0 %
o -y
R S| T
SR . 3
Lo T e
1.v: T ".HW \ = \lm





image21.png
Opener 9/27/18

Find the slope of the following: What is the siope and y-int?
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Write the point-slope form of the equation of the line through the given point with the given
slope orgiven two points.
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What is domain? Opener 9/24/18

For the following, what would be the domain?
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